Math 1152, Quiz #10, Spring 2014 Name KEY

Instructions: Show all work. Use exact answers unless specifically asked to round. You may check your
answers in the calculator, but you must show work to receive credit.

1. Find (1,—2,5) X (—3,7,4)
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2. What is the length of the curve given by x = 2t — 1,y = t3/2 on the interval [0,1].
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3. Find an expression for the nth term in the sequence LfO %*2% —;—,
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4. Find the limit of the sequence a,, = ﬂz_n’ if it exists, or state that the sequence diverges.

.ﬁ#:v S = &;ﬂ,bea:
n-709 n 0 b//
N E=SAan & = o .‘:%55—%
&,w_;w '”;IL 0 ¢ bm Lo 50 0E M Fwn &
n

7o N w9 n




